Subject: Re: match_3d.pro
Posted by d.poreh on Thu, 03 Dec 2009 15:01:02 GMT

View Forum Message <> Reply to Message

On 3 Dez., 06:53, Grant K <grantkenn...@gmail.com> wrote:
> there's a wee mistake in the bin location zoff line near the
> beginning. it should be n_elements(bs) gt 2 (and not gt 1 as above)
> since the given binsize array might be only two long for some weird
> reason...
>

g

Thanks for sharing.

Could you please give us an example how it is works?
For instance if we have 2 Arrays like this:
Arrl=findgen(m1,n1,d1)

Arr2=findgen(m2,n2,d2)

Cheers

Dave
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